U120 Uotubbbbidd—botbbogtd
Jooodboobgoogd

V000000000 Fromm 000 000000000000 0O0O0O0ODOO0O0ODOOOOOOOO0O0O
000000000 O0ODO000DO00ODO000oOO0OODOoO0oDDOo0oO0DOOoODoDoODOODoODOOoOODoODOOOn
0000000o0oO0bOobOOoDoO0oo0o000000doobO0ooDbOooDoo0ooobOoo0oooooDon
00 Fromm 0000000000000 0O00O0O0O0OO0O0O00OOOO (vorticity transport equation
and streamfunction equation method) 00 00 00000000000 O0DDO0O0O0OO0OOOOOOO
000000 o0ooO0o0oo0oo0o0DObO000obODObOO0obO0o0oo0oooo0bO0obOOo0Oooooooog
00bOo00OOoDO0odbDoo0oooooDooooooo0obO0obO0bOo0bOO00oooDoobOobOOoOoOooDoooa
000000o0oo0ooooUo0ooO0o000OU0O0000U (w—yOOOUO vw—wO)ODOODOODOO
0000000000000 00000000o0oooooon

12,1 00000

0000000000000 00 Navier-Stokes(NS) DO OOOOO0OODODOO

d 0

d—’l: = a—’l:—i—u -Vu = -Vp+vViu (12.1)

V-u=0 12.2
(12.2)

000 d/dt =0/0t+w-VOODOO (substantial derivative)D 000 0000000000« 000Op
000/000v=1/RONR0 Reynolds 000 0ONSOOD (12.1)0 du/dt = du/dt+Vu2/2—ux¢ 0 0
00000000 ¢=VxuOdOD0OO00

%+Vu2/2—ux( = —Vp+rViu (12.3)

D0000D00D00000000VX(Ve) =0, Vx(ux() = (¢ V)u—(u-V)¢(O0O002000000
00000000 (vorticity transport equation) 0 OO0 OO

¢

O0000oo0oo00OoO0¢00ooooOo0U 1o000ooooU 2000000000
gboboooooobooboobooobooooboboooobooboooooooboobooooooo

dv  Ow ow ow ow w  w
— = —+4u-Vw=0vV? 0000 —4u—"4v—=v(——0+—
it~ or Tw Ve svVe ot "oz U ay "(amZ NEY )

Dp0o0000d ax(bxe) = (c-a)b—(a-b)e00 ux(Vxu)=V(u -u)—(u-V)uO0OOD 10000000 VO uoO00O
00000000000000000 V(uo-u)=uVutoVv+wVw =Vu?/20000

MO0000000 Vx(ux()=(V-Qu—(V-u)¢0000 100 VO¢(OOOOO0«0000000000000000
000000000 (V-Qu=( -V)utu(V-¢)I00 V- {=V-(Vxu)=0000020000000000000000

(12.4)




2 omoooooooD —w—90O 00O

UbbD «0000000000000

w20 Ou (12.5)
or Oy

gobooobboobooooooobobobbobooooboooboboboobbbooboooo
gbooboboooboobooboobobooobooo

T
(@) = (o) +/ i, uxde
Zo
000 ¢+, 000000000000000000

W, W

12.
oy “ ox (12.6)

0000000000 (streamfunction) v 000000000000 0O00O0O (125000000000
(126) 000000000000 00O0O0O0O (streamfunction equation) J 000 00

Vi) = R il (12.7)

obooooboooooboboooboobooooboboobooooboooobOooooooobooooon
At00000000000O0O00OO0O0O0ODO0OOO0OUODO0O0O0 (124)00000000 wDOODOO
0000000 (127 00000000 00000 (126)000000 w,v0000000000 wp
gboobooooobbooooboboooobooboboooooboboooo

12.2 0000000 (Dennis-Chang )

Dennis-Chang 00000 0000000000000 OD0O0O0O0O0ODO0O0O0O0O0OOO0OOO (124)0

Ow  Ow 0w 0w
— 2 —
000000000000100000000000000000000
Wij —|uij| witrj—wij | wit || wij—wio1
VwaC = J J »J J J J J »J
Uy vp (@) 2 Az 2 Az
vij = vij| Wi —wij | vijHvi| wig—wi o
12.9
+ 2 Ay 2 Ay ( )
0000000000000
w0 Vo ~ Cp(w) = i =] Wi =wiy | wig || wig —wiv,
2 Aziy1)2 2 Az 1)z
Vig —|vij| Wije1—wij | Vit |vi| wig—wij
+ 12.10
2 Ayjt1/2 2 AyYj—1/2 ( :
000000 200000000000000000000
V-(uw) & Cop(w) = 8ditti —(0)inny | (00)ija —(0w)ijos (12.11)

2Ax 2Ay



UO0000ODennis - Chang 0 000000 3

gooooboboboogoo
V'(UW)%CCD(W)

! <A$i1/2 {(uw)i+1,j - (Uw)ij} + M{(uw)” B (uw)il’j}>

B Az 10+ Axi120\ATiq1)0 Azi_y1/2
1 Ayj-1/2 Ayji1/2 >
+ ww)i 41— (vw)ij |+ ——={ (vw)ij — (vw); - 12.12
ij_1/2+ij+1/2(ij+1/2{( o1 = (00} ij—l/Q{( i = ()i} (12.12)

000000 Azjyyp =2 —2; 00002000000000000000000000 (12.8)000
oooboooooboboooon

1 1 1

vV20 ~ D(w) = %(m (wiflyj—2wij+¢i+17j) + A—y2(wi’j71—2wij+¢i7j+1)> (12.13)
goooooooooda

1 2 Wil —Wij Wi —Wi—1,j

vV2w =~ D(w E—{ ( tly *w 2w ’])
) R Az 12+ A1\ ATigy)2 Az 1o
2 Wij4+1~Wij  Wij —Wij—1 }
+ ( .J - : ) 12.14
Ay 172+ AYj4172 N AYjqa)e Ayji_1/2 ( )

gobooooooobobbobooi1oobooooboobooobooboobbooooo 200bDOOO
00000000000 0000000000000000000D000O0Dennis-Chang0O00000O00O
2000000000000000030

CUD (w("+1)) — D(w("+1)) = CUD (w("))—CCD (w(")) (12.15)

D0000000000000 0’00000 000100000000000000000000
1000000000000000000000 ()=’ 00000000 10000000000
00000 200000000000000000
D0000000000000000000 ¢00000 » 0000000 wp0000000000
0000000000 (127)0000000000000000000000000000

1 1
m(’(/)i_17j—2’(/)ij+'¢'i+1,j) + A—y2(¢z‘,j—1—2¢z‘j+¢i,j+1) = —wyj (12.16)
Oo0o0o0oo0ooooooobobooooooooono
2 <¢i+1,j*¢ij B 1/11'3‘*1/%—1,1')
Az y/9+ATip172 N ATigy)o Azi1/2
2 i i1 — i i — b i
N <wﬁ1¢g_¢a¢41):ﬂ% (12.17)
Ayj 172+ Ayjp172 N AyYjiaye AYj-1/2

odoooooooooooooooooooool0o0oooooooood ;00000100000
000000000000000000»,v0000 (126)0000000000000000OOO0OO
gooao

uij = (Vi1 = ¥ij-1)/24y, (12.18a)

vij = —(Yit1,; —i-1,5) /24 (12.18b)

3Dennis, S.C.R. and Chang, G.Z., Numerical solutions for steady flow past a circular cylinder at Reynolds numbers up
to 100, J. Fluid Mech., Vol.42(1970), Part 3, 471-489.
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! Problem: Square Cavity Flow

! Numerical Method: omega-psi Egqns, Dennis-Chang Method, SOL
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PARAMETER (if=20, j£=20)

DIMENSION x(0:if),y(0:jf),h(0:if),g(0:jf),c(if,jf,8) ,omg(0:if,0:jf),psi(0:if,0:jf), &

u(0:if,0:jf),v(0:1f,0:j£) ,q(0:if,0:jf) ,iq(0:if)
CHARACTER*15 z1
COMMON Re,na,resomg,respsi
DATA psi,u,v/441%0.,441%0.,441%0./; Re,naf/500.,1000

CALL GRIGEN(x,y,h,g,c,if,jf) lgrid generation

OPEN(20,FILE=’0UTPUT.dat’)
WRITE(20,’ (A8, 2X 21F7.3)’)’x or y =’,x
FORALL(i=0:if)u(i,jf)=1.

na=0; 10 na=na+1

CALL CALOMG(h,g,c,omg,psi,u,v,if,jf) lcalculation of vorticity
CALL CALPSI(c,omg,psi,u,v,if,jf) lcalculation of stream function

CALL CPU_TIME(sec)
WRITE(20,60)na,resomg,respsi,sec

60 FORMAT(1H ’na =’, I3, 2X ’resomg =’ F7.3, 2X ’respsi =’, F7.3, 2X ’cputime =’, F5.2)
IF (resomg/100.+respsi>5.E-4.AND.na<naf) GOTO 10
FORALL(i=0:if)iq(i)=1i
DO k=1,4
SELECT CASE (k)
CASE(1); zl1=’  vorticity ’; FORALL(i=0:if,j=0:jf)q(i,j)=omg(i,j)

CASE(2); zl1=’stream function’; FORALL(i=0:if,j=0:jf)q(i,j)=psi(i,j)
CASE(3); z1=’ velocity u °’; FORALL(i=0:if,j=0:jf)q(i,j)=u(i,j)
CASE(4); zl1=’ velocity v ’; FORALL(i=0:if,j=0:jf)q(i,j)=v(i,j)
ENDSELECT
WRITE(20,°(//1H 5X A6,A15,A6/) ) 2%kkkx ’, z1, 7 skkkx’
DO j=jf,0,-1
WRITE(20,’ (I3, 21F9.3)’)j, (q(i,j),i=0,1if)
ENDDO
WRITE(20,’ (21I9 )’)iq
ENDDO
CLOSE(20)
CALL SCGRAPH(x,y,omg,psi,if,jf)
STOP
END PROGRAM MAIN

! sekskokkokkokkk Grid Generation
SUBROUTINE GRIGEN(x,y,h,g,c,if,jf)
DIMENSION x(0:if),y(0:jf),h(0:if),g(0:jf),c(if,jf,8)
s=.08; pi=3.14159
DO i=0,if
x1=i/FLOAT(if); x(i)=x1-s*SIN(2.*pi*x1)
ENDDO
DO j=0,jf
y1=j/FLOAT(jf); y(j)=yl-s*SIN(2.*pi*yl)
ENDDO
FORALL(i=0:if-1)h(i)=x(i+1)-x(i)
FORALL(j=0:jf-1)g(j)=y(j+1)-y(j)
! Setup coefs of first- and second-derivatives
DO i=1,if-1; hm=h(i-1); hO=h(i)

DO j=1,jf-1; gm=g(j-1); g0=g(j)
c(i,j,1) = hm/h0/(hm+h0); c(i,j,2)
c(i,3,3) = gm/g0/(gm+g0); c(i,j,4) = g0/gm/(gm+g0)
c(i,3,5) = 2./h0/(hm+h0); c(i,j,6)
c(i,j,7) = 2./g0/(gm+g0); c(i,j,8)

ENDDO; ENDDO
END SUBROUTINE GRIGEN

2./gn/ (gm+g0)

hO0/hm/ (hm+hO) l1st-deriv coefs

2./hm/ (hm+hO) 12nd-deriv coefs
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! sekkokkokkokkk Calculate vorticity transport eqn by SOR
SUBROUTINE CALOMG(h,g,c,0,p,u,v,if,jf)
DIMENSION h(0:if),g(0:jf),c(if,jf,8),0(0:1if,0:jf),p(0:if,0:jf),u(0:if,0:jf),v(0:if,0:jf), &
00(0:20,0:20),c1(0:20,0:20,0:4) ,rhs(0:20,0:20)
COMMON Re,na,resomg,respsi
alpha=.2; IF(na>10)alpha=.4
! Steup coefficients and rhs of vorticity transport eqn
FORALL(i=0:if,j=0:jf,k=1:4)c1(i,j,k)=0.
FORALL(i=0:if,j=0:jf)c1(i,j,0)=1.
FORALL(i=0:if,j=0:j£)00(i,j)=0(i,j)
DO i=1,if-1; DO j=1,jf-1
up=(u(i, j)+ABS(u(i,j)))/2./h(i); um=(u(i,j)-ABS(u(i,jd))/2./h(i-1)
vp=(v(i,j)+ABS(v(i,j)))/2./g(3); wm=(v(i,j)-ABS(v(i,j)))/2./g(j-1)
c1(i,j,1) = um-c(i,j,5)/Re; c1(i,j,2) =-up-c(i,j,6)/Re 11hs coefs of omega
c1(i,j,3) = vm-c(i,j,7)/Re; ci1(i,j,4) =-vp-c(i,j,8)/Re
c1(i,j,0) = -c1(i,j,1)-c1(i,j,2)-c1(i,j,3)-c1(i,j,4)
rhs(i,j) = um*(o(i+1,j)-0(i,j))-c(i,j,1)*(u(i+1,j)*0(i+1,j)-u(di,j)*o(i,j)) &
+up*(o(i,j)-o0(i-1,j))-c(i,j,2)*(u(i,j)*o(i,j)-u(i-1,j)*o0(i-1,3)) &
+vm* (o (1,j+1)-0(i,j))-c(i,j,3)*(v(i,j+1)*o(i,j+1)-v(i,j)*o(i,j)) &
+vp*(o(i,j)-o(i,j-1))-c(i,j,4)*(v(i,j)*o(i,j)-v(i,j-1)*0(i,j-1))
ENDDO; ENDDO
! Consider Woods conds
dx=h(0); dy=h(0)
FORALL(j=1:jf-1)

c1( 0,j,1)=.5; rhs( 0,j)=-3.*p( 1,j)/dx/dx lon left side wall
c1(if,j,2)=.5; rhs(if,j)=-3.*p(if-1,j)/dx/dx lon right side wall
ENDFORALL
FORALL(i=1:if-1)
c1(i, 0,3)=.5; rhs(i, 0)=-3.*p(i, 1) /dy/dy lon bottom wall

c1(i,jf,4)=.5; rhs(i,jf)=-3.*p(i,jf-1)/dy/dy-3.*u(i,jf)/dy 'on top wall
ENDFORALL
! Solve vorticity transport egqn by SOR
n=0; 20 n=n+1; reso=0.
ie=if; IF(MOD(n,2)==0)ie=ie-2
DO ii=0,ie; i=ii; IF(MOD(n,2)==0)i=if-1-ii
im1=MAX0(i-1,0); ip1=MINO(i+1,if)
je=jf; IF(MOD(n,2)==0)je=je-2
DO jj=0,je; j=jj; IF(MOD(n,2)==0)j=jf-1-jj
jm1=MAX0(j-1,0); jp1l=MINO(j+1,jf)
res=c1(i,j,1)*o(ipl,j)+c1(i,j,2)*o(iml,j) &
+c1(i,j,3)*0(i,jpl)+cl(i,j,4)*0(i,jml) &
+c1(i,j,0)*o0(i,j)-rhs(i,j)
cor=-1.2*res/c1(i,j,0); o(i,j)=o(i,j)+cor
reso=AMAX1(reso,ABS(res))
ENDDO; ENDDO
IF(reso>1.E-3.AND.n<4) GOTO 20
FORALL(i=0:if,j=0:jf)o(i,j)=00(i,j)+alpha*(o(i,j)-00(i,j))
ENDSUBROUTINE CALOMG

! kkkokkkkkkk Solve boundary value problem of stream function egn by SOR
SUBROUTINE CALPSI(c,o0,p,u,v,if,jf)

DIMENSION c(if,jf,8),0(0:if,0:jf),p(0:if,0:jf),u(0:if,0:jf),v(0:if,0:jf)
COMMON Re,na,reso,resp

n=0; 30 n=n+1; resp=0.

ie=if-1; IF(MOD(n,2)==0)ie=ie-2

DO ii=1,ie; i=ii; IF(MOD(n,2)==0)i=if-1-ii
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je=jf-1; IF(MOD(n,2)==0)je=je-2
DO jj=1,je; j=jj; IF(MOD(n,2)==0)j=jf-1-jj
res=c(i,j,B)*(p(i+1,j)-p(i,j))-c(i,j,6)*(p(i,j)-p(i-1,])) &
+c(i,j,)*(p(i,j*+1)-p(i,j))-c(i,],8)*x(p(i,j)-p(i,j-1))+o(i,])
cor=1.5x*res/(c(i,j,5)+c(i,j,6)+c(i,j,7)+c(i,j,8))
p(i,j)=p(i,j)+cor
resp=AMAX1(resp,ABS(res))
ENDDO; ENDDO
IF(resp>1.E-5.AND.n<4) GOTO 30
! Compute velocities
FORALL(i=1:if-1,j=1:jf-1)
u(i,j)= <(i,3,3)*(p(i,j+1)-p(i,j))+c(i,j,4)*(p(i,j)-p(i,j-1))
v(i,j)=—(c(i,j,1)*(p(i+1,j)-p(i,j))+c(i,j,2)*(p(i,j)-p(i-1,7)))
ENDFORALL
END SUBROUTINE CALPSI

bobooboooooooobooboobobobooooobooobooboboo0o0bb0dx=2,y=1y,
omg=w,psi=v¢,u=wu,v=ov00 c0 100 20000000000Re=9R0 Reynoldsd Ona = napprox
000000 00resomg= max|r,|00 (12.15) 0 WoodsDOODO OO ODOODOOO respsi= max|ry|
00 (1217 0000000000000 C00O0OOO0ODODOOO GRIGRNOOOODOOOO cO0OO
OO0DDO0OO0ODO0ODOO0OD caroMc wOODODOOODODOD cALPSIO »O00OOODDOODDOOOO
(max|ry,|/100. + max|ry| < 0.0005) 000000000 (na=naf) 0000000 0w, ¢, w,v00000
00000000000 0000 caroMcO OO (12.15)0 Woods OO OO ODOOODOO SOROOODO
000000000000 cALpSIO OO (12.17)0 Dirichlet 00  =000000000 SORODODOOO
0000 w900 (12199 00000000000 SOROOOUODO0OOOO0OOOODOOOOOOOOOO
ooboobOoooobooobooobooooooon

obo0O0O000obO0ob00ob0 12100000000000000000C00 0025000000000
0.07500 0000000000000 00b00000U0bL0bLbO0DU00UbD0DODOoooDboDoDbOon
oooooooobooooo sorRO0OOOobOOOoOOO0O0OODO00b00 n=400000000D00
0oboobOooboobodn=200000000«=0300000000000000000

n « Napprox ~ CPU-time(sec)
2 0.30 139 0.66
0.35 126 0.44
0.40 oo
4 0.30 128 0.66
0.35 115 0.39
0.40 oo
10 | 0.15 183 1.10
0.20 oo

12.3 00000

00000000 ddt=9/0t+«-VOOOOOOOOOO (interior derivative) 0 DD 000000
0000 (124)00 122000 2t 0000000000000O0O0OCOOOOOOO0OO0OO

gnt1

AR RS V3w dt (12.22)

Wy
tn
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54.4

24.0

g.n

-24.0

544

COMPUTATIONAL GRID WORTICITY & STREAMLIMNES

0121: 0000000000000O000O00000000

000 V2=0%022+0%0y2000 000 *0000000 ¢t+=¢"000000000000000000
0 (1222)0000000000000000 At=¢""1+00000000000D0O (¢t 2%y*)00
O @Y 2,y,)00000000000000000000000 w*00O w?-'HDDDDDDDDDDEI

J
00000000000000 (1222)00000 (convective-difference) 00 000000000000

oooooOoo
w?fl = w +vV2wAt (12.23)

000*00000000000000000+=¢000000000000O0O00UODOOUOODOO
ooooooocooobobobooobod s 0000000000

g+l

' =z — u dt (12.24)
tn

00z —2,;=£000000000000000000000

£ = —uAt (12.25)
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000000 (12.23)0(12.25) 0000000000000 0O00OO0OOOUO0OOOODDOOUOODOOO
gbobooooooobobooog

oooo f=fz, 0000 f=(f+f"/2

000000000000000000000000000000000 (12250000000 ¢PMO0
D0 1000000000000 «*00 (1223)00000000 37" 00000000000000
0001000000000 «*00 (12250000000 ¢902000000000 w*0 (Vi)*O0
(12.23)00000000 ¥ 00000000000000000000000000000000
0000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
000000000000000000000000000000000000

ma ma2
ut = Y Crl(a) > CuB) wiyk,jti (12.26)
k=m1 l=m1
ood Ck(a),Cl(B)DIZIDDDDa:g/Ax, ﬂ:n/AyDDDDDDDDDDDDD meo—m; U0 000
goooiloooooboon

1
ut = E{—S_Uzeﬁ-(ﬂx—|§|)ui+§+uz'+1}

= —a"u; 1+ (1—|a)u;+atu (12.27)
= ui+aAuiiy /o (a= ai)
000 ¢ = (E£|E))/2, |€| =€, Ax = x5, a = EJAx, oF = Az, |o| =aT—a™, Augyy/o =
uwp1—u; 00000000000 Coy =—a, Cy=1—|af, Ci=at00001000000000000
1dddoooobooooooa

oo 20000040

ut = oo { L E( A s+ (A4 E) (Aa— Euit 5 (Aa+E)éuisa )

= As? 2
1 1
= —ia(l—a)ui,l—I—(l—az)ui—}—504(1+a)ui+1 (12.28)
1
= u; + aluiyq)2 — 504(1—|04|)(1—T:F)Auii1/2 (a= ozi)

000 r* = Aujyy/2/Au- 00000000000 Cq =—a(l-)/2, Co=1-0? C; = a(l+a)/2
gobodb 200000obboboooobooobob0boo0oobob0oboooooooooobooooon
jooooobooboooboooboobObUooboboUobD oo booboDOoobooooboo
g20000oboboon

Jez{ —L (€<0) (12.29a)
>0

000000 0000000 200000
i =i+, €= E—IAz, a—a—I (12.29b)

gboooooobooboooan
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TvDOOOUOOOoOooooooooooboooobobobooboo200 TVDOOOO

* . rt+1 +
u* = ui+aAuiil/2+a(|a|—1){1—m1nmod<T, 2>}Auii1/2 (o =a™) (12.30)

O00 minmod0OOODOOOOOOOOOODOO
minmod(z, y) = sign(z) max[0, min{|z|, sign(z)y}]

000000020000 (1228)0 1000000000 200000000000000000O0OOO
O«*000 -1<a<100000000000 minmoddO0O000000O00O0O00ODO

gbooooobooooooooobooboobooboobooooOobooOoboOo 1ooboobooboboboobo
0O (1227000000000

*

u* = —a"u; 1 +(1—|a))ui+atui, = Ui+ AUty /2 (a= ai) (12.31)
000 o = &Avi1)s, Avipry =2 —x0000200000000000000000000

. §(ATiq1/2—8) n (Az;_1/9+E)(Aziy1/2—E)

ut = U1 u;

_A$i71/2(A$i71/2+A$i+1/2) Az 179 ATiq )0
(Azi_y/2+€)E

Uu; 12.32

(Azi_1/2+ATi41/2)ATi41/2 i ( )
1—7':': +

= ui+alu;y1 /2 —a(l—|al) T Atity)2 (a=a™)

000 m* = Azyy/p/Az41,000000007% = (Augyjo/Azi)e)/(Augr)/Arg2) 000000
000002000000000 (12.292)0 1000000 200000

i =i+l §—=E§—TAT41/2, a—a—1I (12.33)

goobooboboobooobooobooboobo20b0obo0o0obooooon

rF+mT

u* = ui+aAuii1/2+a(1*‘O‘D{l*miand( 1+m¥F’

2)}Auii1/2 (a = o) (12.34)

w000 10000000000000000000 LeithO (1965)000000000400000
goooooocooobooboboi10o0o0ooo0oboboobooboo 2000000bOOoOo0OO0bOoDOn
00010000 1000000000 «a=0000000000 |«/00000000O0O0|«/00O0O
0000 1000000000 0000000000000 010000000000000 |eo|=100
0000000000 Crowley(1967)0 w* 000 20000000000000000%0000000
ooooooooooooooooooob wrOooobOObObOO0oooobObOOoObOobObObODOOo
gbooooobooobboooobooobOboobooooooobooooboooboOoooboooooaon
oobooooboooooobbobooobober00bOOO0bO0ObO0Ob00obObObOOobOOOoObOOobObOOooOn
gboooooooobo11oobboooooboboooobobobbooboobD 20b0000O0ODbDOO
uboooboooooooooooon

w—y 000000000 0DODOOO0O00C0CO0DOO0000DO0000D0ODO0 D0 wO0O0 u
obobobOi0b0«~00oboobooboobbobobobboobobbbooboobo 3obbooobooonDon

4Leith, C.E., Numerical simulation of the earth’s atmosphere, Methods in computational Physics, Vol.4, 1-28, 1965,
5Crowley, W.P., Second-order numerical advection, J. of Comput. Physics, Vol.1(1967), 471-484.
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gbobooooobooooobooobooboobooboooooobooooOooO0obOobooooooboooooo
goooboooboooobobby00bbOo0bo0 yyoboooOy,—y 000000000000
oooooooooooooobooooOoooooboOobOOoboDOy, 00000000 Y=y 000000
O00D000vy—4o 0000000000000 00D0ODO0O0O0O00D0OYe, y2000D00O0OO0OOO
00000000O0o00o000«y0000000000000000000000O000 (127)000
oooo ¢y, 000000000000 00000O000O000O00O00O0O00ObODOoooLOOoDOoDOooO
Dw—yODOOOOOO0OOO0O0O00O0OO0O0O0ODOODDOOODODO0O0O000OOO0ObDOoDOOOObOOO
gooobooboobooobobo boboooboboboobbooooboooooboboobobboooobooo
ooooooooboobd0 w—yOoODOOODOOOOOOODOOOOOOODODOODOODODDOO
000 vo(z,y) 000 ¢ 0000000000000 0O000OOO0OOOOOOOOOOOOOOO
oooob0 ¢, 000000000000 0C0DODOODOO00O0OOODODOOO0ODOOOOOOODODOOODOO

12.4.1 000O0O0O0ODO

Navier-Stokes 000 (123)0 000000000000 0O0O0OOO rooooooOooOoOooOO
oboooo 123000

]{dP =P —P,=AP =— %(ut—uxw—i—quw)-ds
:—j{(ut—vw—i—ywy)d:v—j{(vt—i—uw—uww)dy (12.35)

000 P = p+u?/20000000 s, f0000000000000000w = (o 0 w)Dds:

(dz dy 0)GDDDDDDDDDDDDDDDDDDDDDDD ogooOoooooobooboooon
obooooobooobooboooobooobooooobgooo

j{(ut—vw—i—ywy)dx—}—}{(vt—i—uw—uww)dy =0 (12.36)

O0000000000000000 (one-valued pressure condition) 0 00000000
Oo0ooooooooooooooo n:(nz Ny O)DDDDDDDDDDDDDDDDD a0 00O

/a-ds = /(azdx—i—aydy) = /(—nyaw—i—nzay)ds = ‘/nxads

EENERE

0 123: 0000000

5000000000 V2u=-Vx(Vxu) = —Vxw
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000000000 e0NSOOD (123)00000000000000O00000ODOOOOTO

P,—P; = //(%fyv2w)dxdy

00000000000 0oo0U (12400 0000000000 0O0O0OOUDOUOOODOOO0OOOOO
ooo00o0o00O0O0000O00000000 PP=pP,0000 (1236)00000000000000
0000000000000 00000000000000000D00000O00000U00n (12.36)0
gboooooboboboboobobo 123000000 b0b0O0000bODOobDO0ooOoobOobDDObOOg
0000000000 »OOO0OODO (1236)0 0000000000000 0O0OOO0OOOOOOOO
gobooooOoobooooooboobooboooboobooooooooboooobooboobobobooon
oboboooooooboboooobooobooooboooooDo
ubooboooooobobooooooo

F = %(—np—i—z/n-Vu)ds (12.37)

gdooooboboobooooboooobodnbO0bOO0OO000O0O0O0O0OO0OOOOODOOOOOOOOOO
0100000ob00ob00obooooooobo0oo 2000000000000 O00O0bO0OOOO0bOO0On
O00oooooooo0 FoOoyOOO «c00000O0O0OCOOODOOOOOOOOOOOODOOOOOO
gbooobOoboooobobooooobooon
oboobOoooooboooobobobobOoooOoboobOobO0obOobOooooooboobooOoooon
oooooboooboboogooobooNSOonogd (12.1)DDu=<z/zy — g O>EV><1/)|:IDEIDEI

oboooooooooooobooog 1/)2(0 0 z/;)DDI]EIEIDDD v-VeOODOO (000)V-uu
gogboobboooobodtdtdibwhOODDOOOODODLOOODOOOOOODLOOOO

VX +Vuu+Vp+rVxw =0
gbooooooooobobooobooobobobobooooboboboooooooobooboooboo

%(nxd)t—{—wuu—f—np—{—ynxw)dszo (12.38)
gbooooooobobobooobobooooboooboobboobobbobooooooobobbooo

F:—}{(nxdjt +n-uu+ nptrvnxw)ds (12.39)

gbobooboobOoooooooooboboooooooobooboo0oode00obOoOobooon
00000000000 (1239)00000000000000000O0000O0UO00OOO0OOO0OO
goooooo

‘D00000000000000 ¢000000 «e0000000000000O0O0O0

/ Vo dedy = %nd)ds,
/ V-adzdy = ?{n-ads,
//anda:dy = ]{nxads
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12.4.2 0JU00O0OOOOO0OO0OODOOOO

01240 0000000000000000D0O0DOO0OODOO0ODO0ODO0O0O0O0O0ODODOO ¥v»OO
oooboooooooooobooboooobooooooboboooboooobooouoboooboaoon
0000000000000000000000000000000000000000 (12.35)0 ¢»t1/2
ooobooobooooooooooboooobooon

—APmH1/2 :%(ut—vw—l—uwy)nﬂﬂdﬂ” +]{(Ut+uw—sz)"+1/2dy (12.40)

000 w2 = (ur4untl)/2, uf™/% = (wrtl—ym)/6t00000 (1240) 0000000000000
W', w000 ", "' 0000000000000000000000 I'0000o0og Aprtt/2
0000000000000 000000000000000D00000000 ¢,000000000 0
000000000000

O0000 (1240)00000000000NSOD0000D0000000000000000d¢,0
00000000000000000000000000000000¢,00000000000000
00000000000 0000000000000000000000000000000000000
0wlODOOODOOOOOOO0000000000000000000000000«,00000000
000000000 200 —wxwDOODDODDO0OO0OO0O0OD0OO0D0O00000OD r'00000ooog
00000000000 N+1000000 (1240)000 NOODOOO (1240) 00000000000
ON+10O0ODOODOO0O00 AprHY/2IN+HY) —o0O00000 ¢, 000000000000000000
000 200000000000000000000000000

1
APPHAN) o 5 {?{(u dr+v dy)"+1(N+1) —j{(u dz+v dy)"+1(N) } (12.41)

~

oboooobdoo rogboooboboboooboobobooobboooooo oo OoDbOoD
0D ¢ 0 I'0000000000O00O00DOOO0OO00OO0OOO0DODOODOn &DDDDDD

V3p =0 (12.42)

- 1 (0ooo)
0 (D0DODDDOODO0OO00)

gooobooooooobooooobooboboobooboobooobbobbo ropooo

Y
Iy = — —d 12.4
b 5o (12.43)

-

—

—-

—

—_—

—

P T
—

—

-

Wy

U 124: 000000000O0000O0
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000 9/on=nVOrOOOO 0000000000000 00O0000D00O00O0O0OO0O0O0O0O0OD
0000000000000 0O00C000O0 roo0000000O0OU000O00OO0O0OoOoOoO (12.41)
oooooooobo p,O00ooooocboooooon Az/;IENH)DDDDDDDDDDDDDDDDDD
obooooooooobo

LAGNTY — Aprt1/2(N) 5y (12.44)

O00o0ooooooo0obOo00o00o ¢, 000000000000 000O0O0O00OO0ODOO0OO
obObOO0o00obO0b00oo0b0ooooobooobooboobobOOooooOoobooboOoOobooOoDOon L
DDDDDDDDAz/JéNH)DEIEIDDDDDDDDDDDDDDD 100000000 a0 00

PPN 1) | A (NH1) (12.45)

00000000000 O0OOU00O000O0O0O0OOO0OOOUDOO0OOO (1242)0(1243)00 ,ODOOO
000000000000 000000000000000000000000 (12.44)0(1245 0000
ooooooo

12.4.3 0000000 O0OO0OO0OOODOOOO

goDb12500000000000000000000000O000O00O00O0O00O0ODOD MOOODO p
O0oooOoooooooooboo ¢, 0000000000000O0O00C0O0O0O0O0O0O0OOOO0B0OO0
goooobobooooooooooboooobobooboooooooooobobbDobooboboooobboo

0000000000000000000000000000000000 1, (v=1,2,...,M)0000
0 (1240)0000000000000 o™, w0 oW ™M opgooooooooo Apyt/2W)
0000000000000000000000000000000000 4, (k=1,2,...,M)000

00000000000 000000O000000000000000000O0000O000O0O0 (12.41)
ooooooooo r,000o00D000D

0o0+,0 [,000000000000000MO0000000000000000O00O00000O0OAO
goooo &HDDDDDDDDDD

V), =0 (n=1,2,..., M) (12.46)

5ot (0000000)
710 woooOoDOOODOOOOOO)

Outer boundary

e

O Iy
N

I Iz

Fh s

U125 0000000000000O0O00
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oooo p0ooo0ooooooobbOo0obOoooobobooboboobobooboboboboboboobog L,
ooooooooooood

o

I,“,:f%%ds (W=1,2,..., M, v=1,2, ..., M) (12.47)
v n

0 (1241)000000000007,0100000000000000000000000000 A,

000000000 00000000

M
D L AN = AppT2N) gt (v=1,2,..., M) (12.48)
p=1

ooo A¢£N+1)DDDDD 10000boooboobboo0ooobooobobooo0oDb0nb ae0O
oboboooOboooooboo

YN — ) g Ay (V) (12.49)

0000000000000000 (1246)00000000000 (1247)00 I, (,v=1,2,..., M)
00000000000 00000000000000000000000000000 (12.48)0(12.49)
gbooooooooboon

12,5 0000000000

gbooooooobOoboooboooooobobooooobooobooooooooooooooooooaoon
oobooooooooooooboobobooobooooobbobooo0ooooooobooooooboooon
goobooooboboooboooboooooooboooboboobboobooboooooboooooooboo
oo0000obo0oooobooooobOooDbooOooDbO0OooOONSOOOooobDooooooODODODbDOooD
O0o00000000o0o NSOOOoooooooobOobOOoooooooOoDbOo0OOooooODbOobooboOobDoO
goboooooobobooooooooooboobb w=—w OO OOOOOOODOODODOOOOO
uoooobooobobobobooobobobooooobooboobooobooobOobooboboboon
gobooobobooooooooooboboobboooboobOoOoboooobOooooooboboooan
oboooooooooooooon

Exterior domain
Quter boundary (e )
Iy

i i Dot~
H Interiar dormain Stream

houndary

EEEEEE

Equivalent
cirgular
mylinder

0 126: 000000O0OODO
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1.1
VI = Yt —thy+ 1099 = 0 (12.50)

00000000000 000000r—>o00: v— (U,00)000000 ¢ =¥(z,y) 00000000
oboooooooo

L

¥ = Uy+co¢0+ch¢l (12.51a)
1=1

ooo

¢o = log(r1/7),

(12.51b)
Gom_1=r""cosmb, ¢z, =1 " sinmb (m=1,2,...)

0000000 10000000020000000000000000000 (125000000000
00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
0000000300 ¢, =(1/r)cos§ 0000000000000000000000 ¢ = (1/r)sind
00000000000000000000003000000000000000000000000
000000000000 ¢000000000000000000

b1 =x/r%  ¢o =y/r?,

b2m—1 = (TP2m—3—Yb2m—2)/7%, ( 5 3 ) (12.52)
m=2,3,...

Pom :(y¢2m—3+x¢2m—2)/r2

0 (1251a) 00000 000000 I, 000000000000

=0 (12.53a)
oy 0w
- (12.53b)

boooboboooobobobobooobbooooooooooooooboooboboOoobooobo
000000000000000000000000%0000000000 (1251a)000000 Iy
OO0 k0000000DOODOOODOODOO

L
Y = Uy + Z ik (12.54a)
=0
L
fe =" cran (12.54b)
=0
ooo
R . ) —0¢i/0x
f—{U_u, ‘”_{—a@ﬁw (12.54c)

80000000000000000000000 Lipschitz0O00O0DO0000000000000 (smooth) 0O OOOOO
00 (sufficiently smooth) 0000000000000 D0O00O0OO0ODOOOOOOOOO
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000000000 (z=const.)000000000O0O (y=const.)DO0OO000GOOOOOOODOO
goooooooo

o {/ o {(mzyz)/r‘* o {2xy/r4
ag = ay = 5 az =

y/r? ' 2zy/rt (y2—2?)/r* ’
) m__ ) (12.55)
Gom—1 = ————= (TA2m—_3— Y2
2m—1 (m—l)r2 2m—3 —Ya2m—-2), ( .y
) m m=2,3,...)
a2m = W(yaszzs-i-iwszz)

000000000000 (12542) 000 I, 0000000000000 0OO0OOO0O0O0OOOOO
000 (1254b)000000000000000O00O00O0OO0OODO0OOO0OOO (1254b)00000O
O00«000000000000000 ¢qUOO0O00000 (12542)00000000000000 9
oobooooobOvOOOoOobOOooooObOOoOoboOooOOobOo0 gboooobOOoOoooooboobooon
oo Lo rp,0b00ooog KDDDDDDDDEIDfEIDEIDDDDDDDDDDDDDDDDDDD
00000 (1254b) 00 0000000000000 OOOOOOOOOOOUOUOOOOOOOOO
000000000 (1254b)00000O0O0OO

L

K 2
R= Z (chalk*fk> = min

k=1 =0
D00000000O0RO ¢n(m=0,1,2,...,0)0000 000000000
9]
a—R(co,cl,...,cL)ZO (m=0,1,2,..., L)
cm

gboboobobooobon

L

> amier = fm (m=0,1,2,...,L) (12.56a)
=0
ooQ
K
Aml = Z&mk&lk (12.56]2))
k=1
K ~
fm = dmnfr (12.56¢)
k=1
0000 ¢(=0,1,2,...,[)00000 10000000000000000000

goobooboobooboboooboooooboooboooOobooooboOooooooboooboooono
obOooobOOooooboooboboboobOooooooboobbOobobooo gbOooboboboonbo
goboboooooooo Kooooooboobobooobbooobbooooboboooboo yooogoo
gbooobobooogn
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12.6.1 00000 OOO0OOODOOO

gs3otobooboobboobboooooboobooo40bbOO0ObbObObObOOODODOODODODnO
ooooooooboooooooooooobooooboooboOoooooooDn u, =10000Re= 2000
goboooooooboobooooboboooobogoo sobobboooooobobobobooo
goboooooboobboooooobOOOoOobObOoooooboobobO IOD00ObO0oDObODOoDODO
O00000oo0oOO0o0O000000D00 wOO00000 4000000000000 wp, 00000
oboooOoboooboooboooooobboobooboobooboobooboooooboboooooooon
000000000000 0000000000000000000000 FORTRAN 95/90 Free source
formO0000000O0O0O00OCDOO

program MAIN

Dot ok sk s ok s ok sk sk sk sk s ook sk s ok sk ksl ok sk s ks s sk s sk s oo s s ok s sk e ok

! Problem: Unsteady Flow past a Square Cylinder in Parallel Walled Duct

! Numerical Method: omega-psi Eqns, Convective-Difference Scheme

Dot ok sk s ok s ok sk sk sk sk s ook sk s ok sk ksl ok sk s ks s sk s sk s oo s s ok s sk e ok

PARAMETER (if=88, j£=37)

DIMENSION x(if),y(jf),h(if),g(jf),c(if,jf,8),omgm(if,jf),omg(if,jf),omgl(if,jf),e(if,jf), &
d(if,jf) ,psim(if,jf),psi(if,jf),psil(if,jf),u(if,jf),ul(if,jf),ub(if,jf) ,us(if,jf), &
v(if,jf),v1(if,jf),vb(if,jf),vs(if,jf),p(if,jf)

!xy:coordinates, h,g:grid spaces, c:coefficients of first- and second-derivatives
!omgm:omega®n-1, omg:omega“n, omgl:omega™n+l, d:nabla”2omega, uv:velocities
'u:u™n, ul:u"n+l, ub:baru, us:u"*, p:total pressure

CcOMMON i1,i2,j1,j2,dt,Re,n,na

TEXT(x,f1,£2,£3)=-.5%x*(1.-x)*f1+(1.-x*x)*£2+.5xx*x(1.+x) *£3

DATA i1,i2,j1,j2/16,22,16,22/ dt,Re,nf/.04, 200., 600/

'i1,i2,j1,j2:square cylinder, dt:time increment, Re:Reynolds number, nf:final n

OPEN (20,FILE=’0UTPUT.dat’)

! Grid generation

CALL GRIGEN(x,y,h,g,c,if,jf)

! Compute circulations

n=-1

FORALL(i= 1:if,j= 1:jf)psi(i,j)=0.

FORALL(i=i1:i2,j=j1:j2)psi(i,j)=1.

CALL CIRC(h,g,c,psi,if,jf,circl)

! Compute initial steady flow

n=0

CALL STEADY(x,y,h,g,c,omg,omgl,d,psil,ul,vl,if,jf); GOTO 121

Dotk sk sk kskok ok ok sk ok sk ok ok ok

101 n=n+1; t=t+dt

IF(MOD(n,20)==1)WRITE(20,61)

na=0; 102 na=na+l

! Compute vorticity

IF(n<=10.0R.na<=3)CALL CALOMG(h,g,omgm,omg,omgl,e,d,u,ul,ub,us,v,vl,vb,vs,if,jf)

! Compute stream function

IF(na==1)THEN; dpsib=psibl-psib; dP=0.; GOTO 111; ENDIF

CALL CALDP(h,g,c,omg,omgl,u,ul,v,vl,p,if,jf,dP) !correct psi on square cylinder

dpsib=.7*dt*dP/circl; psibl=psibl+dpsib

FORALL(i=i1:i2,j=j1:j2)psil(i,j) = psibl

111 CONTINUE

CALL CALPSI(h,g,c,omgl,psil,ul,vl,if,jf,respsi)

! Compute bound values of omega and diffusion term of omega
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IF(n<=10.0R.na<=3)CALL OMGB(h,g,omgl,psil,if,jf)
IF(n<=10.0R.na<=3)CALL LAPOMG(c,omgl,d,if,jf)
IF(na==1)WRITE(20,62)n,t
IF(na<=10.0R.MOD(na,10)==0)WRITE(20,63)na,respsi,psibl,dpsib,dP
IF (n==1) GOTO 121
IF(na<10) GOTO 102
1tk ok ok ook ok o Kok o Kok ok ok ok
CALL CALDP(h,g,c,omg,omgl,u,ul,v,vl,p,if,jf,dP)
CALL CALLD(h,g,omg,omgl,psi,psil,u,ul,v,vl,p,if,jf,C1l,Cd)
CALL CPU_TIME(sec)
WRITE(20,64)Cl,Cd,sec
IF(MOD(n,10)==0.AND.n>=500.AND.n<=560) CALL OUTPUT (omgl,psil,ul,vl,if,jf)
121 CONTINUE
! Advance time and get predicted values of omg, psi, etc by extrapolation
DO i=2,if; DO j=1,jf
omgmm=omgm(i,j); omgm(i,j)=omg(i,j); omg(i,j)=omgl(i,j)
IF (n>3)omgl (i,j)=TEXT(2.,omgmm,omgm(i,j) ,omg(i,j))
psimm=psim(i,j); psim(i,j)=psi(i,j); psi(i,j)=psil(i,j)
IF (n>3)psil(i,j)=TEXT(2.,psimm,psim(i,j),psi(i,j))
u(i,j)=ul(i,jd; v(i,jd=vi(d,j)
ENDDO; ENDDO

IF(n==1.AND.na<40) GOTO 102
psibmm=psibm; psibm=psib; psib=psibl; IF(n>3)psib1=TEXT(2.,psibmm,psibm,psib)
IF (n<nf) GOTO 101
CLOSE(20)
STOP
61 FORMAT(/5X ° n t ’, 4X ’na respsi psib 4Pdpsib’, 6X &
’? dP Cl Cd CPU-time’)

62 FORMAT(5X I4,F8.2)

63 FORMAT(20X I2, F8.4, 2X F8.4, 4PF8.3, 4X OPF8.4)
64 FORMAT(62X 2F8.4, 4X F8.2)

END PROGRAM MAIN

! xkkkkkkkkk Generate nonuniform rectangular grid
SUBROUTINE GRIGEN(x,y,h,g,c,if,jf)
DIMENSION x(if),y(jf),h(if),g(jf),c(if,jf,8),iq(if)
pi=3.14159
DO i= 1,15; xx=FLOAT(i-16)/15.; x(i)=2.+xx*(xx*xx+1.); ENDDO
FORALL(i=16:22)x(i)=2.+FLOAT(i-16)/15.
DO i=23,37; xx=FLOAT(i-22)/15.; x(i)=2.4+.5*xx*xx+xx; ENDDO
FORALL(i=38:if)x(i)=3.9+FLOAT(i-37)/7.5
FORALL(j=1:j£)y(j)=FLOAT(j-19)/15.
DO j= 1,15; yy=FLOAT(j-16)/15.; y(j)=y(j)-.6*yy*yy*yy-.9*yy*yy; ENDDO
DO j=23,37; yy=FLOAT(j-22)/15.; y(j)=y(j)-.6*yy*yy*yy+.9*yy*yy; ENDDO
FORALL(i=1:if-1)h(i)=x(i+1)-x(i); h(if)=h(if-1)
FORALL(j=1:jf-1)g(§)=y(G+1)-y(j)
! Setup coefs of first- and second-order derivatives
FORALL(i=1:if,j=1:jf,k=1:8)c(i,j,k)=0.
DO i=2,if-1; DO j=1,jf; hm=h(i-1); hO=h(i)
c(i,j,1)=hm/h0/ (hm+h0); c(i,j,2)=h0/hm/ (hm+h0) l1st-deriv coefs
c(i,j,5)=2./h0/(hm+h0); c(i,j,6)=2./hm/(hm+h0) 12nd-deriv coefs
ENDDO; ENDDO
DO i=1,if; DO j=2,jf-1; gm=g(j-1); go=g(j)
c(i,j,3)=gm/g0/(gm+g0); c(i,j,4)=g0/gm/(gm+g0) l1st-deriv coefs
c(i,j,7)=2./g0/(gm+g0); c(i,j,8)=2./gm/(gm+g0) 12nd-deriv coefs
ENDDO; ENDDO
! Qutput x,y
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FORALL(i=1:if)iq(i)=i
WRITE(20,° (//5X A30/)’) ?*x*x* grid point x *¥**x*’
DO m=1,3; ib=30*(m-1)+1; ie=MIN(ib+29,if)
WRITE(20,’ (2X 30F8.4)’) (x(i),i=ib,ie); WRITE(20,’(30I8)’) (iq(i),i=ib,ie)
ENDDO
WRITE(20,’ (//5X A30/)’) ’**x*x grid point y *****’
DO m=1,2; jb=30*(m-1)+1; je=MIN(jb+29,jf)
WRITE(20,’ (2X 30F8.4)°) (y(j),j=jb,je); WRITE(20,’(30I8)’) (iq(j),j=jb,je)
ENDDO
ENDSUBROUTINE GRIGEN

! skkkokkokkokkk Compute circulation

SUBROUTINE CIRC(h,g,c,psi,if,jf,circl)

DIMENSION h(if),g(jf),c(if,jf,8),psi(if,jf),o(if,jf),u(if,jf),v(if, L)

DATA i5,i6,j5,j6/14,24,14,24/

FORALL(i=1:if,j=1:jf)o(i,j)=0.

CALL CALPSI(h,g,c,o0,psi,u,v,if,jf,resp,dpsi)

circ1=0.

DO i=i5,i6-1; circl = circl+( u(i,j5)+u(i+1,j5)-u(i,j6)-u(i+1,j6))/2.*%h(i); ENDDO
DO j=j5,j6-1; circl = circi+(-v(i5,j)-v(ib,j+1)+v(i6,j)+v(i6,j+1))/2.*g(j); ENDDO
WRITE(20,’(//5X A30//16X A8, F7.3//)’)’**xxxx circulations ***x*x*’ ’circl =’,circl
ENDSUBROUTINE CIRC

! kkkokkokkkkk Compute initial steady flow using convect-differnce method
SUBROUTINE STEADY(x,y,h,g,c,omg,omgl,d,psi,u,v,if,jf)
DIMENSION x(if),y(jf),h(if),g(jf),c(if,jf,8),omg(if,jf) ,omgl(if,jf),d(if,jf), &
psi(if,jf) ,u(if,jf),v(if,jf)
COMMON i1,i2,j1,j2,dt,Re,n,na
! Initial values
um=1.
DO i=1,if; cycle_1: DO j=1,jf
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND. j<=j2)CYCLE cycle_1
omg(i,j) = um*2*y(j)/1.5; omgl(i,j) = um*2*y(j)/1.5
psi(i,j) = umx(1.5%y(j)-y(§)*y(j)*y(j)/3./1.5)
u(i,j) = umx(1.5%1.5-y(j)*y(j))/1.5; v(i,j) = 0.
ENDDO cycle_1; ENDDO
! Compute steady flow

na=0; 10 na=na+1; IF(na==1) GOTO 11

CALL CALOMGO(h,g,c,omg,omgl,d,psi,u,v,if,jf,domg) !calculation of vorticity
omg(i1-3,j1+2)=10. 'trigger for asymmetric flow

11 CALL CALPSI(h,g,c,omg,psi,u,v,if,jf,respsi) lcalculation of stream function

IF(na<=10.0R.M0OD(na,10)==0)WRITE(20,60)na,domg,respsi

60 FORMAT(5X ’na =’, I4, 4X ’2Pdomg =’ 2PF8.4, 4X ’respsi =’, OPF8.4)
IF (na<200) GOTO 10
ENDSUBROUTINE STEADY

! kkkokkokkokkk Calculate vorticity transport eqn using 1st-order convective-differences
SUBROUTINE CALOMGO(h,g,c,0,01,d,p,u,v,if,jf,domg)
DIMENSION h(if),g(jf),c(if,jf,8),0(if,jf),01(if,jf),d(if,jf),p(if,jf),u(if,jf),v(if,jf)
CcOMMON i1,i2,j1,j2,dt,Re,n,na
! Compute vorticity using lst-order convective-differences
CALL LAPOMG(c,o0,d,if,jf)
CALL UPWIND(h,g,u,v,0,01,if,jf)
DO i=2,if; ip1=MIN(i+1,if); cycle_1: DO j=2,jf-1
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND. j<=j2)CYCLE cycle_1
01(i,j) = o1(i,j)+d(i,j)*dt/Re
ENDDO cycle_1; ENDDO
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! Compute vorticity on boundaries by Woods conds

CALL OMGB(h,g,01,p,if,jf)

domg=0.

DO i=2,if; DO j=2,jf-1
dog = 01(i,j)-o0(i,j); domg = AMAX1(domg,ABS(dog))
o1(i,j) = o(i,j)+.5*dog; o(i,j)=o1(i,]j)

ENDDO; ENDDO

ENDSUBROUTINE CALOMGO
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! xkkkiokkkkk Solve initial value prob of vorticity transport eqn by convective-differnece method

SUBROUTINE CALOMG(h,g,om,0,01,e,d,u,ul,ub,us,v,vl,vb,vs,if,jf)

DIMENSION h(if),g(jf),om(if,jf),o(if,jf),01(if,jf),e(if,jf),d(if,jf),u(if,jf), &
ul(if,jf),ub(if,jf) ,us(if,jf),v(if,jf),v1(if,jf),vb(if,jf),vs(if,jf)

COMMON i1,i2,j1,j2,dt,Re,n,na
IF (na>1) GOTO 10
FORALL(i=i1:i12)d(i,j1) = (o1(i,j1)-om(i,j1))/(2.%dt)*Re
FORALL(i=i1:i2)d(i,j2) = (o1(i,j2)-om(i,j2))/(2.*dt)*Re
FORALL(j=j1:j2)d(il1,j) = (o1(il,j)-om(il,j))/(2.*dt)*Re
FORALL(j=j1:j2)d(i2,j) = (o1(i2,j)-om(i2,j))/(2.*dt)*Re
FORALL(i= 1:if)d(i, 1) = (o1(i, 1)-om(i, 1))/(2.*dt)*Re
FORALL(i= 1:if)d(i,jf) = (o1(i,jf)-om(i,jf))/(2.*dt)*Re
FORALL(i=1:if,j=1:jf)e(i,j) = o(i,j)+dt*d(i,j)/2./Re
RETURN
10 CONTINUE
CALL LAGINT(h,g,ub,vb,u,us,if,jf)
CALL LAGINT(h,g,ub,vb,v,vs,if,jf)
FORALL(i=2:if,j=2:jf-1)ub(i,j) = (us(i,j)+ul(di,j))/2.
FORALL(i=2:if,j=2:jf-1)vb(i,j) = (vs(i,j)+vi(i,j))/2.
CALL LAGINT(h,g,ub,vb,e,o0l,if,jf)
FORALL(i=2:if,j=2:jf-1)01(i,j) = o1(i,j)+dt*d(i,j)/2./Re
ENDSUBROUTINE CALQOMG

! Compute boundary values of vorticity by Woods cond
SUBROUTINE OMGB(h,g,o0,p,if,jf)
DIMENSION h(if),g(jf),o(if,jf),p(if,jf)
COMMON i1,i2,j1,j2
0B(h,01,p0,p1)=-01/2.-3.%(p1-p0) /h/h
DO j=j1,j2
o(i1,j) = 0B(h(i1l-1),0(i1-1,j),p(i1,j),p(i1-1,3))
0(i2,j) = 0B(h(i2) ,0(i2+1,j),p(i2,j),p(i2+1,3))
ENDDO; ol1=0(il,j1); o12=0(il1,j2)
DO i=il,i2
o(i,j1) = 0B(g(j1-1),0(i,j1-1),p(i,j1),p(i,j1-1))
o(i,j2) = 0B(g(j2) ,o0(i,j2+1),p(i,j2),p(i,j2+1))

le=omg~n+dt*(nabla”2omg) "n/2/Re
'na=0

!corrector

!'front wall
lrear wall

!side wall
!side wall

ENDDO; o(il,j1)=(ol1+o(il,j1))/2.; o(il,j2)=(o12+0(il,j2))/2.

DO i=1,if
o(i, 1) = 0B(g( 1),0(i, 2),p(i, 1),p(i, 2))
o(i,jf) = 0B(g(jf-1),0(i,jf-1),p(i,jf),p(i,jf-1))

ENDDO

ENDSUBROUTINE OMGB

Dixkokxdokkkk Compute Laplacian omega

SUBROUTINE LAPOMG(c,o0,d,if,jf)

DIMENSION c(if,jf,8),0(if,jf),d(if,jf)

COMMON i1,i2,j1,j2

DO i=2,if; cycle_1: DO j=2,jf-1
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND.j<=j2) CYCLE cycle_1

'bottom wall
!top wall
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d(i,j) = c(i,j,7)*(o(i,j+1)-0(i,j))+c(i,j,8)*(o(i,j-1)-0(i,]))
IF(i==if)CYCLE cycle_1
d(i,j) = c(i,j,5)*(o(i*+1,j)-0(i,j))+c(i,j,6)*(o(i-1,j)-0(i,j))+d(4i,])
ENDDO cycle_1; ENDDO
ENDSUBROUTINE LAPOMG

Dixkokkkokkxk Compute pressure difference along a closed curve

SUBROUTINE CALDP(h,g,c,0,0l,u,ul,v,vl,p,if,jf,dP)

DIMENSION h(if),g(jf),c(if,jf,8),0(if,jf),o1(if,jf), &

u(if,jf),ul(if,jf),v(if,jf),v1(if,jf),p(if,jf)

COMMON i1,i2,j1,j2,dt,Re

ib=i1-2; i6=i2+2; jb=j1-2; j6=j2+2

p(i5,j5)=0.; j=j5; 10 CONTINUE

DO i=ib,i6; f1=f2
vO=(v(i,j)+v1(i,j))/2.; om=(o(i,j-1)+o1(i,j-1))/2.
00=(0(i,j)+01(i,j))/2.; op=(o(i,j+1)+ol(i,j+1))/2.
£f2 = -(u1(i,j)-u(i,j))/dt+vO*o0-(c(i,j,3)*(op-00)+c(i,j,4)*(o0-om))/Re
IF(i/=i5)p(i,j) = p(i-1,j)+(£1+£2)/2.%h(i-1)

ENDDO

i=ib; IF(j==j6)THEN; i=i6; dP=p(i,j); ENDIF

DO j=jb5,j6; f1=f2
u0=(u(i,j)+ul(i,j))/2.; om=(o(i-1,j)+01(i-1,3))/2.
00=(0(i,j)+01(i,j))/2.; op=(o(i+1,j)+o1(i+1,j))/2.
£f2 = -(v1(i,j)-v(i,j))/dt—u0*00+(c(i,j,1)*(op-00)+c(i,j,2)*(0o0-om))/Re
IF(j/=j5)p(i,j) = p(i,j-1)+(£1+£2)/2.*g(j-1)

ENDDO

j=j6; IF(i==ib) GOTO 10

dp = p(i,j)-dp

ENDSUBROUTINE CALDP

! xkkkikkkkk Solve boundary value problem of stream function eqn using SOR

SUBROUTINE CALPSI(h,g,c,0,p,u,v,if,jf,resp) lo=omg, p=psi

DIMENSION h(if),g(jf),c(if,jf,8),0(if,jf),p(if,jf),u(if,jf),v(if,jf)

coMMoN it,i2,j1,j2,dt,Re,n,na

ni=0; 10 ni=ni+1; resp=0.

DO i=2,if; cycle_1: DO j=2,jf-1
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND.j<=j2)CYCLE cycle_1

res = c(i,j,7)*(p(i,j+1)-p(i,j))+c(i,j,8)*(p(i,j-1)-p(i,j))+o(i,])

IF(i/=if)res = c(i,j,5)*(p(i+1,j)-p(i,j))+c(i,j,6)*(p(i-1,j)-p(i,j))+res
p(i,j) = p(i,j)+1.5%res/(c(i,j,b)+c(i,j,6)+c(i,j,7)+c(i,j,8))
IF(i<=58)resp = AMAX1(resp,ABS(res))

ENDDO cycle_1; ENDDO

IF (ni<7) GOTO 10
IF(n==-1.AND.ni<100) GOTO 10
IF((n==0.0R.n==1) .AND.na==1.AND.ni<100) GOTO 10
DO i=1,if; cycle_2: DO j=1,jf ! Compute velocities

IF(i>=i1.AND.i<=i2.AND.j>=j1.AND.j<=j2)CYCLE cycle_2

IF (j== L)THEN; u(i,j) = (p(i,j+1)-p(i,3))/g(3)

ELSEIF(j==jf)THEN; u(i,j) = (p(i,j)-p(i,j-1))/g(j-1)

ELSE; u(i,j) = c(i,3,3)*(p(i,j+1)-p(i,j))+c(i,j,4)*(p(i,j)-p(i,j-1)); ENDIF

IF (i== 1)THEN; v(i,j) =-(p(i+1,j)-p(i,j))/h(i)

ELSEIF (i==if)THEN; v(i,j) =-(p(i,j)-p(i-1,3))/h(i-1)

ELSE; v(i,j) =-c(i,j,D)*(p(i+1,j)-p(i,j))-c(i,j,2)*(p(i,j)-p(i-1,3)); ENDIF
ENDDO cycle_2; ENDDO
ENDSUBROUTINE CALPSI
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Dixkokxdokkkk Compute lift and drag coefficients
SUBROUTINE CALLD(h,g,omg,omgl,psi,psil,u,ul,v,vl,p,if,jf,C1,Cd)
DIMENSION h(if),g(jf),omg(if,jf) ,omgl(if,jf),psi(if,jf),psil(if,jf), &
u(if,jf),ul(if,jf),v(if,jf),v1(if,jf),p(if,jf)
COMMON ii1,i2,j1,j2,dt,Re
i6=i1-2; 1i6=1i2+2; jb=j1-2; j6=j2+2
j=jb5; 11 C11=0.; Cd1=0.
DO i=ib,i6; f1=f2; di1=d2
u0=(u(i,j)+ul(i,j))/2.; v0=(v(i,j)+vi(i,j))/2.; omgO=(omg(i,j)+omgl(i,j))/2.
£f2 = p(i,j)-u0*u0/2.+v0*v0/2.
d2 = (psil(di,j)-psi(i,j))/dt+vO*ul+omgO/Re
IF(i>i5)Cl1l = Cli+(f1+£2)*h(i-1)/2.
IF(i>i5)Cdl = Cdi+(d1+d2)*h(i-1)/2.
ENDDO
i=i6; IF(j==j6)i=ib5; C12=0.; Cd2=0.
DO j=j5,j6; f1=f2; di1=d2
u0=(u(i,j)+ul(i,j))/2.; vo=(v(i,j)+vi(i,j))/2.; omgO=(omg(i,j)+omgl(i,j))/2.
£2 = (psi1(i,j)-psi(i,j))/dt-u0*vO+omgO/Re
d2 = -p(i,j)-u0*u0/2.+v0*xv0/2.
IF(j>j5)C12 = Cl2+(f1+£f2)*h(i-1)/2.
IF(j>j5)Cd2 = Cd2+(d1+d2)*h(i-1)/2.
ENDDO
IF(i==i6)THEN; Cl = C11+Cl2; Cd = Cd1+Cd2; j=j6; GOTO 11
ELSE; Cl = C1-Cl1-Cl2; Cd = Cd-Cd1-Cd2; ENDIF
ENDSUBROUTINE CALLD

Diokkokkokkokkk JQutput computational results

SUBROUTINE OUTPUT(o,p,u,v,if,jf)

DIMENSION o(if,jf),p(if,jf),u(if,jf),v(if,jf),q(if,jf),iq(if)
CHARACTER*15 z1

FORALL(i=1:if)iq(i)=1

DO k=1,2
SELECT CASE (k)
CASE(1); z1=’  vorticity ’; FORALL(i=1:if,j=1:jf)q(i,j)=o0(i,j)/100.
CASE(2); zl1=’stream function’; FORALL(i=1:if,j=1:jf)q(i,j)=p(i,])
ENDSELECT

WRITE(20,’(//1H B5X A6,A15,A6/)7) 2 %%xxx 7, z1, 7 xkkkk’
DO m=1,3; ib=30*(m-1)+1; ie=MIN(ib+29,if)
DO j=jf,1,-1; WRITE(20,’(I3, 30F9.3)’)j,(q(i,j),i=ib,ie); ENDDO
WRITE(20,’(30I9 /)’)(iq(i),i=ib,ie)
ENDDO; ENDDO
ENDSUBROUTINE OUTPUT

Pkkkkk 1st—-order upwind interpolation
SUBROUTINE UPWIND(h,g,u,v,f,fs,if,jf)
DIMENSION h(if),g(jf),u(if,jf),v(if,jf) ,f(if,jf),fs(if,jf)
COMMON i1,i2,j1,j2,dt
DO i=2,if; ip1=MIN(i+1,if); cycle_1: DO j=2,jf-1
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND.j<=j2)CYCLE cycle_1
ap=-(u(i,j)-ABS(u(i,j)))/2.*dt/h(i); am=-(u(i,j)+ABS(u(i,j)))/2.*dt/h(i-1); aa=ap-am
bp=-(v(i,j)-ABS(v(i,j)))/2.*dt/g(j); bm=-(v(i,j)+ABS(v(i,j)))/2.*dt/g(j-1); ba=bp-bm
fs(i,j) = —am* bp *f(i-1,j+1)+(1.-aa)* bp *£f(i,j+1)+ap*x bp *£f(ipl,j+1) &
—am*(1.-ba)*f(i-1,j )+(l.-aa)*(1l.-ba)*f(i,j )+ap*(1l.-ba)*f(ipl,j ) &
+am* bm  *f(i-1,j-1)-(1.-aa)* bm *f(i,j-1)-ap* bm *f(ipl,j-1)
ENDDO cycle_1; ENDDO
ENDSUBROUTINE UPWIND



24 0mooooooo0 —w—90 00

Is*xxx 2nd-order Lagrangian interpolation
SUBROUTINE LAGINT(h,g,u,v,f,fs,if,jf)
DIMENSION h(if),g(jf),u(if,jf),v(if,jf),£(if,jf),fs(if,jf)
COMMON i1,i2,31,32,dt
DO i=2,if; cycle_1: DO j=2,jf-1
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND.j<=j2) CYCLE cycle_1
ii=i; xi=-u(i,j)*dt; et=-v(i,j)*dt
IF(i>=3.AND.i<=i1+1.0R.i==if)THEN; ii=i-1; xi=xi+h(ii); ENDIF
hm=h(ii-1); hO=h(ii); gm=g(j-1); g0=g(j)
cxm=-xi*(hO-xi) /hm/ (hm+hO0) ; cx0=(hm+xi)*(hO-xi)/hm/h0; cxp=xi* (hm+xi)/h0/(hm+hO)
cym=—et*(g0-et) /gm/ (gm+g0) ; cyO=(gm+tet)*(gld-et)/gm/g0; cyp=et*(gm+et)/g0/(gm+g0)
fm = cym*f (ii-1,j-1)+cyO*f(ii-1,j)+cyp*f(ii-1,j+1)
fO = cymxf(ii ,j-1)+cyO*f(ii ,j)+cyp*f(ii ,j+1)
fp = cym*f (ii+1,j-1)+cyO*f (ii+1,j)+cyp*f (ii+1,j+1)
fs(i,j) = cxm*xfm+cxO*f0+cxp*fp
ENDDO cycle_1; ENDDO
ENDSUBROUTINE LAGINT
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12.6.2 UU000OOOO20000000000
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‘ Grid Generation ‘
|

n=-—1
Compute I,

| ‘ Compute w ‘

‘ Compute ¢y, dl,al:i ‘ Yes
| <=1
n=0 No
Initial Steady Flow

‘ Compute AP, , ¢y, || Ay || ‘

|Compute e, || Aci ||, ¥, || AF |

‘ Compute 9, || Ay ||, u ‘
|

‘ Compute wyp ‘

Da

‘ Compute V3w ‘

\ Predict w, \

‘ Predict ¢, 1y ‘

No

0128 000000000000

program MAIN

Dotk ke ok sk sk ksl ok sk ke sk s sk e skl sk ok ks sk sk sk sk skt ok sk e sk sk sk ok sk ke sk s ok sk s ok sk e ok sk ok
! Problem: Unsteady Flow past Tandem Square Cylinders in Uniform Flow
Numerical Method: omega-psi Eqns, Convective-Difference Scheme

Dotk ke ok sk sk ksl ok sk ke sk s sk e skl sk ok ks sk sk sk sk skt ok sk e sk sk sk ok sk ke sk s ok sk s ok sk e ok sk ok
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PARAMETER (if=90, j£=27 ,kf=205,1f=17)

DIMENSION x(if),y(jf),h(if),g(jf),c(if,jf,8) ,omgm(if,jf),omg(if,jf),omgl(if,jf),e(if,jf), &
d(if,jf) ,psim(if,jf),psi(if,jf),psi1(if,jf),u(if,jf),ul(if,jf),ub(if,jf),us(if,jf), &
v(if,jf),vi(if,jf),vb(if,jf),vs(if,jf),p(if,jf),cm(1f),cO0(1f),c1(1f),phi(1f,kf), &
a(1lf,1f) ,ah(1f ,kf)

!xy:coordinates, h,g:grid spaces, c:coefficients of first- and second-derivatives
'omgm:omega™n-1, omg:omega™n, omgl:omega"n+l, d:nabla”2omega, uv:velocities
'u:u”n, ul:u"n+l, ub:baru, us:u”*, p:total pressure, cm:c"n-1, cO:c"n, cl:c"n+l
'phi:eigenfunctions, a:a or a"-1, ah:hata

coMMON it,i2,j1,j2,i3,i4,j3,j4,dt,Re,n,na

TEXT(x,f1,£2,£f3) = -.5xx*x(1.-x)*f1+(1.-x*x)*£2+.5xx*x(1.+x)*£3

DATA i1,i2,j1,j2, i3,i4,j3,j4/8,14,11,17, 44,50,11,17/ &

dt,Re,nf/.04, 200., 400/ wufs,pi/1., 3.14159/
'i1,i2,j1,j2:front square cylinder, i3,i4,j3,j4:rear square cylinder
!dt:time increment, Re:Reynolds number, nf:final n, ufs:u of free stream

OPEN (20,FILE=’0UTPUT.dat’)

! Grid generation

CALL GRIGEN(x,y,h,g,c,if,jf)

! Compute circulations

n=-1

FORALL(i= 1:if,j= 1:jf)psi(i,j)=0.

FORALL(i=i1:i2,j=j1:j2)psi(i,j)=1.

CALL CIRC(h,g,c,psi,if,jf,circll,circ12)

FORALL(i= 1:if,j= 1:jf)psi(i,j)=0.

FORALL(i=i3:i4,j=j3:j4)psi(i,j)=1.

CALL CIRC(h,g,c,psi,if,jf,circ21,circ22)

WRITE(20,’ (//5X A30//4(4X A8, F7.3))’)7*x*x* circulations *¥***’,6 &

’circll =’,circll,’circl2 =’,circl2,’circ21 =?,circ21,’circ22 =’,circ22

! Set up phi,ah,a

CALL OUTERO(x,y,if,jf,phi,ah,a,1f,kf)

! Compute initial steady flow

n=0

CALL STEADY(x,y,h,g,c,omg,omgl,d,psil,ul,vl,if,jf); GOTO 121

Dotk sk sk sk ok ok ok o ok sk ok ok ok

101 n=n+1; t=t+dt

IF(MOD(n,20)==1)WRITE(20,61)

na=0; 102 na=na+l

! Compute vorticity

CALL CALOMG(h,g,omgm,omg,omgl,e,d,u,ul,ub,us,v,vl,vb,vs,if,jf)

! Compute stream function

IF(na==1)THEN; dpsibl=psibll-psibl; dP1=0.

dpsib2=psib21-psib2; dP2=0.; GOTO 111

ENDIF

CALL CALDP(h,g,c,omg,omgl,u,ul,v,vl,p,if,jf,dP1,1) !correct psi on obstacles

CALL CALDP(h,g,c,omg,omgl,u,ul,v,vl,p,if,jf,dP2,2)

dpsibl=.7*dt*(dP1*circ22-dP2*circ21)/(circill*circ22-circ21*circ12) !psib"N-psib~N-1

dpsib2=.7*dt*(dP2*circ11-dPl*circ12)/(circll*circ22-circ2l*circ12)
psibll=psibll+dpsibl; psib21=psib21+dpsib2

FORALL(i=i1:i2,j=j1:j2)psil(i,j) = psibil

FORALL(i=i3:i4,j=j3:j4)psil(i,j) = psib21

111 CONTINUE

CALL OUTER(y,psil,ul,vl,if,jf,ufs,phi,ah,a,c0,cl,1f,kf,dcl,dfh) !correct psi on outer boundary

CALL CALPSI(h,g,c,omgl,psil,ul,vl,if,jf,respsi)

! Compute bound values of omega and diffusion term of omega

CALL OMGB(h,g,omgl,psil,if,jf)

CALL LAPOMG(c,omgl,d,if,jf)

IF(na==1)WRITE(20,62)n,t
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IF(na<=10.0R.MOD(na,10)==0)WRITE(20,63)na,respsi,psibl1l,dpsibl,psib21,dpsib2,dcl,dfh,dP1,dP2
IF (n==1) GOTO 121
IF (na<10) GOTO 102
CALL CALDP(h,g,c,omg,omgl,u,ul,v,vl,p,if,jf,dP1,1)
CALL CALLD(h,g,omg,omgl,psi,psil,u,ul,v,vl,p,if,jf,C11,Cd1,1)
CALL CALDP(h,g,c,omg,omgl,u,ul,v,vl,p,if,jf,dP2,2)
CALL CALLD(h,g,omg,omgl,psi,psil,u,ul,v,vl,p,if,jf,C12,Cd2,2)
CALL CPU_TIME(sec)
WRITE(20,64)Cl11,Cd1,C12,Cd2,sec
Dotk ok sk kskok ok ok sk ook sk ok ok ok
121 CONTINUE
! Advance time and get predicted values of omg, psi, etc by extrapolation
DO i=1,if; DO j=1,jf
omgmm=omgm(i,j); omgm(i,j)=omg(i,j); omg(i,j)=omgl(i,j)
IF (n>3) omgl (i, j)=TEXT(2. ,omgmm,omgm(i,j),omg(i,j))
psimm=psim(i,j); psim(i,j)=psi(i,j); psi(i,j)=psil(i,j)
IF (n>3)psil (i, j)=TEXT(2.,psimm,psim(i,j),psi(i,j))
u(i,j)=ul(di,j); v(i,j)=vi(d,j)
ENDDO; ENDDO
IF (n==1.AND.na<40) GOTO 102
DO 1=1,1f
cmm=cm(1); cm(1)=c0(1); c0(1)=c1(1l); IF(n>3)c1(1)=TEXT(2.,cmm,cm(1),c0(1))
ENDDO
psiblmm=psibim; psibim=psibl; psibl=psibll; IF(n>3)psib11=TEXT(2.,psiblmm,psiblm,psibl)
psib2mm=psib2m; psib2m=psib2; psib2=psib21l; IF(n>3)psib21=TEXT(2.,psib2mm,psib2m,psib2)
IF (n<nf) GOTO 101
CLOSE(20)
FORALL(i=1:if,j=1:jf)p(i,j) = p(i,j)-(ul(i,j)*ul(d,j)+vi(di,j)*vi(i,j))/2.
STOP
61 FORMAT(/5X ° n t ’, 4X ’na respsi psibl 4Pdpsibl psib2 4Pdpsib2 2Pdcl7’, &
¢ dfh ’, 6X ’ dP1 Cl1 Cd1 dp2 Cl2 Cd2 CPU-time’)
62 FORMAT(5X I4,F8.2)
63 FORMAT(20X I2, F8.4, 2(2X OPF8.4, 4PF8.3), 2X 2PF8.4, OPF8.4, 4X F8.4, 18X F8.4)
64 FORMAT(96X 2F8.4,10X 2F8.4, 4X F8.2)
END PROGRAM MAIN

! skkkikkkkkk Generate nonuniform rectangular grid

SUBROUTINE GRIGEN(x,y,h,g,c,if,jf)

DIMENSION x(if),y(jf),h(if),g(jf),c(if,jf,8),iq(if)

pi=3.14159

FORALL(i= 1: 7)x(i)=.1%(i-22)-.1*SIN(pi*(i-8)/10.)

FORALL(i= 8:50)x(i)=.2/3.*%(i-29)

FORALL(i=51:55)x(i)=.1%(i-36)-.1*SIN(pi*(i-50)/10.)

FORALL(i=56:if)x(i)=1.8+.1%(i-55)

FORALL(j= 1:10)y(j)=.1%(j-13)-.1*SIN(pi*(j-11)/10.)

FORALL(j=11:17)y(j)=.2/3.%(j-14)

FORALL(j=18:jf)y(j)=.1%(j-15)-.1*SIN(pi*(j-17)/10.)

FORALL(i=1:if-1)h(i)=x(i+1)-x(i); h(if)=h(if-1)

FORALL(j=1:jf-1g(§)=y(G+1)-y(j)

! Setup coefs of first- and second-order derivatives
oooo

ENDSUBROUTINE GRIGEN

! kkkokkokkkkk Compute circulation

SUBROUTINE CIRC(h,g,c,psi,if,jf,circl,circ2)

DIMENSION h(if),g(jf),c(if,jf,8),psi(if,jf),o(if,jf),u(if,jf),v(if,jf)
DATA i5,i6,j5,j6/6,16,9,19/ i7,i8,j7,j8/42,52,9,19/
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FORALL(i=1:if,j=1:jf)o(i,j)=0.

CALL CALPSI(h,g,c,o0,psi,u,v,if,jf,resp)

circ1=0.; circ2=0.

DO i=i5,i6-1; circl = circ1+( u(i,j5)+u(i+1,j5)-u(i,j6)-u(i+1,j6))/2.*%h(i); ENDDO
DO j=j5,j6-1; circl = circi+(-v(i5,j)-v(ib,j+1)+v(i6,j)+v(i6,j+1))/2.*g(j); ENDDO
DO i=i7,i8-1; circ2 = circ2+( u(i,j7)+u(i+1,j7)-u(i,j8)-u(i+1,3j8))/2.*h(i); ENDDO
DO j=j7,j8-1; circ2 = circ2+(-v(i7,j)-v(i7,j+1)+v(i8,j)+v(i8,j+1))/2.%g(j); ENDDO
ENDSUBROUTINE CIRC

! skekkxkokkkkx Set up phi,ah,a

SUBROUTINE OUTERO(x,y,if,jf,phi,ah,a,1f,kf)

DIMENSION x(if),y(jf),phi(1f,kf),ah(1f,kf),a(1f,1f),wa(lf),iw(1f)
kil=if; k2=ki1+jf-1 'kf=k2+if-1

DO k=1,kf
i=k1-k+1; IF(k>k1)i=1 ; IF(k>k2)i=k-k2+1
j=jf  ; IF(k>k1)j=k2-k+1; IF(k>k2)j=1
x1=x(i); yil=y(j); rr=xixxl+yl*yl; x2=x1/rr; y2=yl/rr; r=SQRT(rr)
phi(1,k) = x2; phi(2,k) = y2; phi(1f,k) = ALOG(2./r) Iphi_1f:phi_0O

IF (k>k1.AND.k<k2) &
THEN; ah(1,k) = x2*x2-y2*y2; ah(2,k)
ELSE; ah(1l,k) = 2.%x2xy2 ; ah(2,k)
DO 1=4,1f-1,2; al=1/FLOAT(1-2)
phi(1-1,k) = x2*phi(1-3,k)-y2*phi(1-2,k) ; phi(l,k) = y2*phi(1-3,k)+x2*phi(1-2,k)
ah(l-1,k) = (x2*ah(1-3,k)-y2*ah(1-2,k))*al; ah(l,k) = (y2*ah(1-3,k)+x2*ah(1-2,k))*al
ENDDO; ENDDO
DO m=1,1f; DO 1=1,1f; a(m,1) = 0.; DO k=1,kf
a(m,1) = a(m,l)+ah(m,k)*ah(1,k)
ENDDO; ENDDO; ENDDO
det=1.; epsl=0.; CALL MATINV(a,wa,iw,lf,det,epsl)
WRITE(20,’ (//5X A40//5X A8/(5X 17E12.4)/)’) &
?xxxxx Coefs for outer bound cond ***x%’ ,’A"-1 =’ a3
END SUBROUTINE OUTERO

x2
y2; ENDIF

2. *x2%y2 ; ah(1f,k)
y2*y2-x2*x2; ah(lf,k)

I skkksokkkkk Compute initial steady flow

SUBROUTINE STEADY(x,y,h,g,c,omg,omgl,d,psi,u,v,if,jf)

DIMENSION x(if),y(jf),h(if),g(jf),c(if,jf,8),omg(if,jf),omgl (if,jf),d(if,jf), &

psi(if,jf) ,u(if,jf),v(if,jf)

COMMON i1,i2,j1,j2,i3,i4,33,j4,dt,Re,n,na

! Initial values

pi=3.14159; ufs=1.

rro=(x(i2)-x(i1))*(y(j2)-y(j1))/pi

FORALL(i=1:if,j=1:jf)psi(i,j)=0.

DO i=1,if; cycle_1: DO j=1,jf
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND.j<=j2)CYCLE cycle_1
IF(i>=i3.AND.i<=i4.AND.j>=j3.AND.j<=j4)CYCLE cycle_1
x1=x(i)-x(14); y1=y(j); rr=xlxxl+ylxyl; r=SQRT(rr) !in order to avoid rr=0
rra=rr0/rr; xa=xl/r; ya=yl/r
psi(i,j) = ufs*ylx(l.-rra)

u(i,j) = ufs*(1l.-rra+2.*ya*ya*rra)
v(i,j) =-ufs*2.*xa*ya*rra

ENDDO cycle_1; ENDDO

! Compute steady flow
ooon

ENDSUBROUTINE STEADY

! kkkokkokkokkk Solve vorticity transport eqn by lst-order convective-difference method
SUBROUTINE CALOMGO(h,g,c,0,01,d,p,u,v,if,jf,domg)
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DIMENSION h(if),g(jf),c(if,jf,8),0(if,jf),o1(if,jf),d(if,jf),p(if,jf),u(if,jf),v(if,jf)

coMMoN it,i2,j1,j2,i3,i4,j3,j4,dt,Re,n,na

! Compute vorticity using 1lst-order convective-differences

CALL UPWIND(h,g,u,v,0,01,if,jf)

DO i=2,if; ip1=MIN(i+1,if); cycle_1: DO j=2,jf-1
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND. j<=j2)CYCLE cycle_1
IF(i>=i3.AND.i<=i4.AND.j>=j3.AND. j<=j4)CYCLE cycle_1
01(i,j) = o1(i,j)+d(i,j)*dt/Re
gooo

ENDSUBROUTINE CALOMGO

! kkkokkokkokkk Solve vorticity transport eqn by 2nd-order convective-differnece method

SUBROUTINE CALOMG(h,g,om,0,01,e,d,u,ul,ub,us,v,vl,vb,vs,if,jf)

DIMENSION h(if),g(jf),om(if,jf),o(if,jf),01(if,jf),e(if,jf),d(if,jf),u(if,jf), &
ul(if,jf) ,ub(if,jf) ,us(if,jf),v(if,jf),v1(if,jf),vb(if,jf),vs(if,jf)

coMMON it,i2,j1,j2,i3,i4,j3,j4,dt,Re,n,na

IF (na>3) RETURN
IF (na>1) GOTO 10
DO k=1,2

IF(k==1)THEN; ib=il; ie=i2; jb=jl; je=j2; ENDIF
IF (k==2)THEN; ib=i3; ie=i4; jb=j3; je=j4; ENDIF
FORALL(i=ib:ie)d(i,jb) = (o1(i,jb)-om(i,jb))/(2.*dt)*Re
FORALL(i=ib:ie)d(i,je) (01(i,je)-om(i,je))/(2.*dt)*Re
FORALL(j=jb:je)d(ib,j) = (o1(ib,j)-om(ib,j))/(2.*dt)*Re
FORALL(j=jb:je)d(ie,j) = (ol(ie,j)-om(ie,j))/(2.*dt)*Re

ENDDO

FORALL(i=2:if,j=2:jf-1)e(i,j) = o(di,j)+dt*d(i,j)/2./Re
oooo

ENDSUBROUTINE CALOMG

! xkkkikkkkk Compute boundary values of vorticity by Woods cond
SUBROUTINE OMGB(h,g,o0,p,if,jf)
DIMENSION h(if),g(jf),o(if,jf),p(if,jf)
commoN it,i2,j1,j2,i3,1i4,j3,j4
0B(h,o01,p0,p1) = -01/2.-3.%(p1-p0)/h/h
DO k=1,2
IF(k==1)THEN; ib=il; ie=i2; jb=j1; je=j2; ENDIF
IF(k==2)THEN; ib=i3; ie=i4; jb=j3; je=j4; ENDIF

DO j=jb,je
o(ib,j) = 0B(h(ib-1),0(ib-1,j),p(ib,j),p(ib-1,3)) Ifront wall
o(ie,j) = 0B(h(ie) ,o(ie+l,j),p(ie,j),p(ie+1,j)) lrear wall

ENDDO; obb=o(ib,jb); obe=o(ib,je)
DO i=ib,ie
o(i,jb) = 0B(g(jb-1),0(i,jb-1),p(i,jb),p(i,jb-1)) 'bottom wall
o(i,je) = 0B(g(je) ,o(i,je+1),p(i,je),p(i,je+l)) Itop wall
ENDDO; o(ib,jb)=(obb+o(ib,jb))/2.; o(ib,je)=(obe+o(ib,je))/2.
ENDDO

ENDSUBROUTINE OMGB

! kkkokkokkokkk Compute Laplacian omega
SUBROUTINE LAPOMG(c,o0,d,if,jf)

O m
ENDSUBROUTINE LAPOMG

! kxxkkkkkkx Compute difference of total pressure along a closed curve
SUBROUTINE CALDP(h,g,c,0,01,u,ul,v,vl,p,if,jf,dP,k)
DIMENSION h(if),g(jf),c(if,jf,8),0(if,jf),0l(if,jf), &
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u(if,jf),ul (if,jf),v(if,jf),vi(if,jf),p(if,jf)
COMMON i1,i2,j1,j2,i3,i4,j3,j4,dt,Re
IF(k==1)THEN; i5=i1-2; i6=i2+2; j5=j1-2; j6=j2+2; ENDIF
IF (k==2)THEN; i5=i3-2; i6=i4+2; j5=j3-2; j6=j4+2; ENDIF
p(ib,j5)=0.; j=j5; 10 CONTINUE
oooo
ENDSUBROUTINE CALDP

! kkkokkokkkkk Correct psi on outer boundary

SUBROUTINE OUTER(y,p,u,v,if,jf,ufs,phi,ah,a,c,cl,1f,kf,dcl,dfh)
DIMENSION y(j£),p(if,jf),u(if,jf),v(if,jf),phi(1f,kf),ah(1f,kf),a(1f,1f), &

c(1f),c1(1£f),fh(kf) , £ (1f)
COMMON i1,i2,j1,j2,i3,i4,j3,j4,dt,Re,n,na
k1=if; k2=ki+jf-1 Ikf=k2+if-1

DO k=1,kf
i=ki-k+1; IF(k>k1)i=1 ; IF (k>k2)i=k-k2+1
j=3if ; IF (k>k1) j=k2-k+1; IF(k>k2)j=1
IF(k>k1.AND.k<k2)THEN; fh(k) = v(i,j)
ELSE; fh(k) = ufs-u(i,j); ENDIF
ENDDO

DO m=1,1f; f(m)=0.; DO k=1,kf
f(m) = f(m)+ah(m,k)*fh(k)
ENDDO; ENDDO
10 dcl=0.; dfh=0.
DO 1=1,1f
c10=c(1); IF(na==1) GOTO 11
c10=c1(1); c1(1)=0.
DO m=1,1f; c1(1)=c1(1)+a(1l,m)*f(m); ENDDO
c1(1l) = c10+.30%(c1(1)-c10)
11 dcl = dcl+ABS(c1(1)-c10)

ENDDO

DO k=1,kf
i=k1-k+1; IF(k>kl1)i=1; IF (k>k2) i=k-k2+1
j=jf; IF (k>k1) j=k2-k+1; IF(k>k2)j=1

fhk=0.; IF(na/=1)p(i,j)=ufs*y(j)
cycle_1: DO 1=1,1f
fhk = fhk  +c1(1)* ah(l,k); IF(na==1)CYCLE cycle_1
p(i,j) = p(i,j)+c1(1)*phi(l,k)
ENDDO cycle_1; dfhk=fhk-fh(k)
dfh = dfh+dfhk*dfhk/kf
ENDDO
dfh = SQRT(dfh)
ENDSUBROUTINE OUTER

!compute hatf_k

lupstream bound
'both side bounds

!compute

!compute

!compute

!compute

f_m

dcl=sum|c "n-c"n-1]|

c_l, dcl=sum|c"N-c°N-1]|

Psi_k & Psi_,nk(=fhk)

!dfh=sqrt (sum(fhk-hatf_k) ~2/kf)

! kkkokkokkkkk Solve boundary value problem of stream function egqn using SOR
lo=omg, p=psi

SUBROUTINE CALPSI(h,g,c,0,p,u,v,if,jf,resp)

DIMENSION h(if),g(jf),c(if,jf,8),0(if,jf),p(if,jf) ,ulif,jf),v(if,jf)

COMMON il,i2,j1,j2,i3,i4,j3,j4,dt,Re,n,na

ni=0; 10 ni=ni+l; resp=0.

DO i=2,if; cycle_1: DO j=2,jf-1
IF(i>=i1.AND.i<=i2.AND.j>=j1.AND. j<=j2)CYCLE cycle_1
IF(i>=i3.AND.i<=i4.AND. j>=j3.AND. j<=j4)CYCLE cycle_1
goono

ENDSUBROUTINE CALPSI

! kkkokkokkokkk Compute 1ift and drag coefficients

SUBROUTINE CALLD(h,g,omg,omgl,psi,psil,u,ul,v,vl,p,if,jf,C1l,Cd,k)
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DIMENSION h(if),g(jf),omg(if,jf),omgl(if,jf),psi(if,jf),psil(if,jf), &
u(if,jf),ul(if,jf),v(if,jf),vi(if,jf),p(if,jf)
COMMON i1,i2,j1,j2,i3,i4,j3,j4,dt,Re
IF(k==1)THEN; i5=i1-2; i6=i2+2; j5=j1-2; j6=j2+2; ENDIF
IF(k==2)THEN; i5=i3-2; i6=i4+2; j5=j3-2; j6=j4+2; ENDIF
j=j5; 11 Cl1=0.; Cd1=0.
oooo
ENDSUBROUTINE CALLD

! skekkxdokkkkx Jutput computational results
SUBROUTINE OUTPUT(o,p,u,v,if,jf)

o m
ENDSUBROUTINE OUTPUT

Pkkkkk Matrix inversion by Gauss-Jordan reduction
SUBROUTINE MATINV(a,wa,iw,n,det,e)

DIMENSION a(n,n),wa(n),iw(n)

det=1.

e=MAX(e,1.E-5)

FORALL (k=1:n)iw(k)=k

DO k=1,n
w=a(k,k); IF(ABS(w)>e) GOTO 11
1=k; 12 1=1+1; IF(1>n)STOP 5555
w=a(l,k); IF(ABS(w)<=e) GOTO 12

FORALL (j=1:n)
wa(j)=a(k,j); a(k,j)=a(l,j); a(l,j)=wa(j)
ENDFORALL
iw0=iw(k); iw(k)=iw(1); iw(1l)=iwO0
det=-det; 11 det=w*det
a(k,k)=1.
FORALL(j=1:n)a(k,j)=a(k,j)/w
cycle_1: DO i=1,n; IF(i==k)CYCLE cycle_1
w=a(i,k); a(i,k)=0.
FORALL(j=1:n)a(i,j)=a(i,j)-wxa(k,j)
ENDDO cycle_1

ENDDO
cycle_2: DO j=1,n; IF(iw(j)==j)CYCLE cycle_2
1=j; 13 1=1+1; IF(iw(1l)/=j) GOTO 13

FORALL (i=1:n)
wa(i)=a(i,j); a(i,j)=a(i,l); a(i,l)=wa(i)
ENDFORALL
iw(1)=iw(j)
ENDDO cycle_2
END

I¥**xx* 1st-order upwind interpolation

SUBROUTINE UPWIND(h,g,u,v,f,fs,if,jf)
0o m

ENDSUBROUTINE UPWIND

Dkkkkk Lagrangian interpolation polynomial
SUBROUTINE LAGINT(h,g,u,v,f,fs,if,jf)

o m
ENDSUBROUTINE LAGINT
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